



COLLEGE OF AGRICULTURE – PEETHAMPURI (Neem Ka Thana)

(Sri Karan Narendra Agriculture University, Jobner)

कृषि महाविद्यालय पीथमपुरी, नीमकाथाना, जिला—सीकर (राज.)—332708

Dr. S.K. Khandelwal
DEAN

Email: dean.coapeethampuri@sknau.ac.in

M: 9549692964

No. F. ()/Actt./COAPP/2026/640

Date: 03/02/2026

M/s Priya Enterprises
Near Nagar palika park
Mohalla Buchaheda
Kotputli - 303108
Mob: 7793814713

Sub: Supply order for “Utensils for hostel (Boys & Girls)” - Reg.

Ref: No. F. ()/Store/COAPP/2026/590 Dated: 17.01.2026

Bids were invited for the supply of “Utensils for hostel (Boys & Girls)” through limited tender vide above referred office order. After technical and financial evaluation of the bids received to this office, the rates offered by the firm “Priya Enterprises, Near Nagar palika park, Mohalla Buchaheda, Kotputli” for the below mentioned Utensils for hostel (Boys & Girls) was found lowest. On the unanimous recommendation of tender committee of the college, the rate offered by your firm is hereby approved as under:

S. No.	Name of Item	Specification	Quantity required (No.)	Rate (Rs./unit) with GST	Supply Order value (Rs.)
1	Gas भट्टी चूल्हा मय रेगुलेटर व नली	स्टेप्डर्ड लोहा 2 x 2 ft	02	2150.00	4300.00
2	कडाई (छोटी)	साइज 10 किलो स्टेप्डर्ड लोहा	02	1380.00	2760.00
3	कडाई (बड़ी)	साइज 18 किलो स्टेप्डर्ड लोहा	02	1580.00	3160.00
4	चमचे बड़ा (सब्जी बनाने के लिए)	स्टेप्डर्ड स्टील	04	135.00	540.00
5	छलनी—दूध/चाय छोटी	स्टेप्डर्ड स्टील	04	78.00	312.00
6	डिब्बे 10 किग्रा	स्टेप्डर्ड स्टील	10	588.00	5880.00
7	स्टील जाली बड़ी (चावल व छोले के लिए)	स्टेप्डर्ड स्टील, 17 इंच गोलाई	02	187.00	374.00
8	क्रेट सब्जी के लिए	स्टेप्डर्ड प्लास्टिक	04	348.00	1392.00
Total (Rs.)					18718.00

This supply order is subjected to fulfilment of all specifications as well as the terms and conditions as notified in the original tender document. These rates will be effective for the period of 15 days from the date of issuing this order. You are therefore directed to supply above mentioned Utensils for hostel (Boys & Girls) to this college within 15 days.

DEAN

Copy forwarded for information and n/a:

1. The Comptroller, SKN Agriculture University, Jobner.
2. I/c Accounts/Store, COA, Peethampuri (Neem Ka Thana).
3. Guard File/Tender File.


DEAN
03/02/2026



COLLEGE OF AGRICULTURE – PEETHAMPURI (Neem Ka Thana)

(Sri Karan Narendra Agriculture University, Jobner)

कृषि महाविद्यालय पीथम्पुरी, नीमकाथाना, जिला—सीकर (राज.)—332708

Dr. S.K. Khandelwal
DEAN

Email: dean.coapeethampuri@sknau.ac.in

M: 9549692964

No. F. ()/Actt./COAPP/2026/ 641

Date: 03/02/2026

M/s Shri Maharaja Furniture & Electronics
1st Floor, Saini Plaza, Tapadiya Bageechi,
Station Road, Sikar – 332 001
Mob: 8209433033/7627094544
Email I'd:- Saini.mukesh.skr001@gmail.com

Sub: Supply order for “**Utensils for hostel (Boys & Girls)**” - Reg.

Ref: No. F. ()/Store/COAPP/2026/590 Dated: 17.01.2026

Bids were invited for the supply of “**Utensils for hostel (Boys & Girls)**” through limited tender vide above referred office order. After technical and financial evaluation of the bids received to this office, the rates offered by the firm “Shri Maharaja Furniture & Electronics, 1st Floor, Saini Plaza, Tapadiya Bageechi, Station Road, Sikar” for the below mentioned **Utensils for hostel (Boys & Girls)** was found lowest. On the unanimous recommendation of tender committee of the college, the rate offered by your firm is hereby approved as under:

S. No.	Name of Item	Specification	Quantity required (No.)	Rate (Rs./unit) with GST	Supply Order value (Rs.)
1	चम्मच	स्टेण्डर्ड स्टील, छोटी खाने वाली	120	10.00	1200.00
2	पलटा (छोटा)	स्टेण्डर्ड लोहा	04	180.00	720.00
3	पलटा (बड़ा)	स्टेण्डर्ड लोहा	04	340.00	1360.00
4	बाल्टी	स्टील 8 लीटर	08	395.00	3160.00
5	चमचे मीडियम (खाना परोसने के लिए)	स्टेण्डर्ड स्टील	08	80.00	640.00
6	राइस चम्मच	स्टील	04	70.00	280.00
7	डिजिटल भार मशीन	10 कि.ग्रा.	02	1650.00	3300.00
8	लाइटर बड़ी	स्टेण्डर्ड	02	120.00	240.00
Total (Rs.)					10900.00

This supply order is subjected to fulfilment of all specifications as well as the terms and conditions as notified in the original tender document. These rates will be effective for the period of 15 days from the date of issuing this order. You are therefore directed to supply above mentioned Utensils for hostel (Boys & Girls) to this college within 15 days.

DEAN

Copy forwarded for information and n/a:

1. The Comptroller, SKN Agriculture University, Jobner.
2. I/c Accounts/Store, COA, Peethampuri (Neem Ka Thana).
3. Guard File/Tender File.

Shd
3/02/2026
DEAN



COLLEGE OF AGRICULTURE – PEETHAMPURI (Neem Ka Thana)

(Sri Karan Narendra Agriculture University, Jobner)

कृषि महाविद्यालय पीथमपुरी, नीमकाथाना, जिला—सीकर (राज.)—332708

Dr. S.K. Khandelwal
DEAN

Email: dean.coapeethampuri@sknau.ac.in

M: 9549692964

No. F. ()/Actt./COAPP/2026/ 642

Date: 03/02/2026

M/s Ajay Enterprises
Loharwara Road, Kanwat, Sikar
Mob: 8529559535

Sub: Supply order for “Utensils for hostel (Boys & Girls)” - Reg.

Ref: No. F. ()/Store/COAPP/2026/590 Dated: 17.01.2026

Bids were invited for the supply of “**Utensils for hostel (Boys & Girls)**” through limited tender vide above referred office order. After technical and financial evaluation of the bids received to this office, the rates offered by the firm “Ajay Enterprises, Loharwara Road, Kanwat, Sikar” **for the below mentioned Utensils for hostel (Boys & Girls)** was found lowest. On the unanimous recommendation of tender committee of the college, the rate offered by your firm is hereby approved as under:

S. No.	Name of Item	Specification	Quantity required (No.)	Rate (Rs./unit with GST)	Supply Order value (Rs.)
1	रोटी सेकनी की Gas भट्टी (तवा व गिरिल) चूल्हा मय रेगुलेटर व नली (बड़ा)	स्टेप्डर्ड लोहे	02	6000.00	12000.00
2	चाय बनाने का भगोना 5 लीटर	Steel triply with lid	02	750.00	1500.00
3	भगोना 5 लीटर मय ढक्कन	स्टेप्डर्ड स्टील	06	850.00	5100.00
4	भगोना 10 लीटर मय ढक्कन	स्टेप्डर्ड इल्यूमिनियम	04	1100.00	4400.00
5	भगोना 20 लीटर मय ढक्कन	स्टेप्डर्ड इल्यूमिनियम	02	1800.00	3600.00
6	तवा रोटी के लिए छोटा लकड़ी के हैंडल सहित	स्टेप्डर्ड लोहा (Size: 10 inch base)	02	170.00	340.00
7	परात (छोटी) आटे के लिए	स्टेप्डर्ड स्टील 5 किलो क्षमता	04	350.00	1400.00
8	परात (बड़ी) आटे के लिए	स्टेप्डर्ड स्टील 15 किलो क्षमता	04	1800.00	7200.00
9	भोजन थाली पांच खाने वाली	स्टेप्डर्ड स्टील, आयताकार, पांच खाने का (Weight: 460 gms)	120	130.00	15600.00
10	नाश्ता प्लेट	स्टेप्डर्ड स्टील (Size: 8 inch, weight: 70 gms)	120	30.00	3600.00
11	ग्लास	स्टेप्डर्ड स्टील, 300 एम. एल. (Weight: 100 gms)	120	40.00	4800.00
12	ग्लास	स्टेप्डर्ड स्टील, 100 एम. एल. (Weight: 40 gms)	120	18.00	2160.00
13	कटोरी	स्टेप्डर्ड स्टील, मीडियम आकार (capacity 200 ml)	120	35.00	4200.00
14	चाकू काटने हेतु	स्टील का 8 नम्बर	10	60.00	600.00
15	चाकू छीलने हेतु	स्टील का 6 नम्बर	08	55.00	440.00
16	इमाम दस्ता छोटा (set size 6x8 cms khallad musli 15 cm)	स्टेप्डर्ड लोहा	02	250.00	500.00
17	इमाम दस्ता बड़ा (set large size 5x8 inches khallad musli 12 inch)	स्टेप्डर्ड लोहा	02	900.00	1800.00
18	चिमटा (29 L x 3.8 W cms)	स्टेप्डर्ड स्टील	04	100.00	400.00

S. No.	Name of Item	Specification	Quantity required (No.)	Rate (Rs./unit with GST)	Supply Order value (Rs.)
19	चकला	लकड़ी	04	80.00	320.00
20	बेलन	लकड़ी	04	50.00	200.00
21	झर छोटी	स्टेण्डर्ड स्टील	04	125.00	500.00
22	झर बड़ी	स्टेण्डर्ड स्टील	04	450.00	1800.00
23	जग	स्टेण्डर्ड स्टील, 1.5 लीटर	10	210.00	2100.00
24	चाय कन्टेनर (टोटी वाला)	15 लीटर, स्टेण्डर्ड स्टील	02	2500.00	5000.00
25	नारियल धीसनी	स्टेण्डर्ड स्टील बड़ी साइज	04	190.00	760.00
26	आटा छलनी	स्टील	04	120.00	480.00
27	आटा की टंकी	स्टेण्डर्ड स्टील, 25 किलोग्राम, आटे के लिए ढंगन सहित	02	1150.00	2300.00
28	धाना / तसला	स्टेण्डर्ड स्टील 5 किलो क्षमता	10	350.00	3500.00
29	कुकर 10 लीटर (एल्यूमिनियम)	स्टेण्डर्ड ब्राण्ड (आई.एस. आई. मार्क)	02	2200.00	4400.00
30	कुकर 22 लीटर (एल्यूमिनियम)	स्टेण्डर्ड ब्राण्ड (आई.एस. आई. मार्क)	02	5000.00	10000.00
31	बर्तन रखने का टोकरा	बड़ी साइज	02	500.00	1000.00
32	ट्रे	स्टेण्डर्ड स्टील, 12x18 इंच	08	500.00	4000.00
33	छलनी-दूध / चाय बड़ी	स्टेण्डर्ड स्टील	04	150.00	600.00
34	डिब्बे 1 किग्रा.	स्टेण्डर्ड स्टील	20	130.00	2600.00
35	डिब्बे 5 किग्रा.	स्टेण्डर्ड स्टील	20	350.00	7000.00
36	लाइटर छोटी	स्टेण्डर्ड	02	80.00	160.00
37	कैशरोल सैट	5 किलो क्षमता वाला	04	1300.00	5200.00
					Total (Rs.) 121560.00

This supply order is subjected to fulfilment of all specifications as well as the terms and conditions as notified in the original tender document. You are therefore directed to supply above mentioned Utensils for hostel (Boys & Girls) to this college within 15 days.

1
DEAN

Copy forwarded for information and n/a:

1. The Comptroller, S.K.N. Agriculture University, Jobner.
2. I/c Accounts/Store, COA, Peethampuri (Neem Ka Thana).
3. Guard File/Tender File.

Shyam
31/01/2026
DEAN